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1 IRt ras 9.44. 37 - 3" =172
» x 4x— —X
9.22. 56-125) = 128. 9.23. (5 )y =1L 9.45. 2 — 2" *=15.
xz+x—6 x2+x—9
2 e _ 9.46. 2 -2 = 56.
90.24. 0,5 %= 8 g5 L. g1 g%
2 27 V2 2 9.47. 37 + 372 + 377 = 3159,
2 242 1 xl-6x+05 _ 1 2 a2
9.26. (0,5)" -2 = 64" 9.27. 2 ETT /R 9.48. 3 '+ 3° "' =270.
028 " 9.49.2- 3"~ 537" = 1443
.28, 1 *TETY =128, o axe
6V8 28 9.50. 10 - 5" - 2*"2 = 950.
2
9.20. (3 g\ rE 5y’ 9.51. 2 16" - 2% — 4% 2=15.
)\ 3 9.52. 2% + 3. 27 = 20.
9.30. 2°- 5 =0,1 - (10" 90.53. V37 — 1V3® = 162.
z_
< (25 27} 9.54, 37" — 957! _ 274! 4 g1%* = 2192,
9-31. 0,6 '9— = E . ~
» 9.55. 27t _ 2"t = 12 + 2%,
Lo B T
932 7 o “ i 0.56. -7 =gt Toge
Z . 2 - H 2 x4+l _ ox x+1 x+2
9.33. (3) (8)—64 9.57. 6 +6 =2"+27 +27",
NV 9.58. 55+ 4" = 5" - 4,
9:34.3 (3) - (f) ' 9.59. 55 =5 - 16 - 5 =27,
x+3 x4+ x _ gx=05 _ ax+05 _ a1
9.35. 327" = 0,25 - 128 *°. AN 3 2
2_ 2 _ 2
9.36. 52+ 5%+ 5°- ... 5% =0,04"2 9.61. 2° ' =37 =37 = 22
9.37. 4 - 5 '=0,2 - 20°°% 962 5 -T -35-57+35-T=0.
9.38. 3**'. 4" = 0,25 - 12" 9.63. x-F'+3-3 " =3 +x-37"
039. 16\ (025" " = 2 9.64. x* - 4" + 47 =16 - 277 + 27 . 2%
9.40. 5% F =6 %,
9.41. 8 75 =T 7.5 _ g
3| 0.66. 4%*—5-4"*+4=0. 9.88. 5°— 24 = 352 . 9.89. 2%** — 227" = 15.
9.67. 4 —10-2""'=24. , ,
9.90. 10" — 10" =99. 9.91. 2°+8 - 27" = 16,5.
9.68. 57! + 5™ = 250. . N -
992, 9 —2*=2""" 993. 3**-2-37=17.
9.94. 5'+5-0,22=26.9.95. 9 - 5> + 4 - 5> =325,

9.96.
9.97.

2°-2- (0,5 - (0,5 —1=0.

zsmz x + zeolzx = 3
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9.99. 64 - 9" — 84 - 12"+ 27 - 16°=0. 9.113. 2" =3 - x.
9.100 4‘23—6x=18'3h 9.114. 3"+ 4™ = 35",

. . ,. 0.115. 7" " =x + 2.
9101.3-4+2-9°=5"6. 9.116. (V2+ V3 )y + (V2 - V3 ) =2~
9.102. 2 - 81 =36+ 3 - 16". 9.117. 3 ' + 57" = 34,
9.103. 3- 16"+ 37 - 36" = 26 - 81%. 9.118. 4%+ 67> = 100.

x=2 __ _9_
9.104. 2 T =3-2°=6 - - 14°%, o.419. 3 = 2.

Ve o ot e 9.120. 4% — 1 =27,
9.105. 47"+ 67" =297 9.121. 5 = V26— x.
9.106. 6 - 25— 5-10°— 4" =0.

9.107. 4-3* -9 -2°=5- 6%

9.108. 6 V9 + 6 V4 — 13 V6 = 0.

9.109. 8" + 18 =2 - 27"

9.110. 4**° 4 9* = ¢**',

9.111. 5- 3% +15-5*'=8 - 15~
71 9.123. x* =1.

9.124. (X*—x—1)""'=1.

9.125.
9.126.

9.127.
9.128. x
9.129.
9.130.
9.131.
9.132.
9.133.

9.134.

(x— 3)'1-" =(x — 3)°

(x - l)h“ =(x - 1)2x+4.

(x +2)° = (x +2)*2

xi-Sx46 _

1.

z__
]xlx x 2=l

43 -

(x+ 1) =(x+1)""%

(x + .‘)‘)"2—"'1 =x+ 3.

48 _

(x+4) 1.

1- xz)(zn:)2 = (1 _ xz)(az-z)(uz).






